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Monthly Test, July-2010, Class VI,

Sub: Social Studies
40 M. M.M. 20

Geography
Answer the following question :- (3x2=6)
1) Why globeiscaled as model of Earth?
2)  What is the name of the ending of screw of Globe?
3) What isthe difference between Longitudes and L atitudes?

Say Why the following statements are true or false:
(2x1=2)
1) The Torrid Zone lies between the Tropic of Cancer and
Tropic of Capricorn.

2) The Earth rotates from the West to East direction.

History
1) What do you know about the Old Stone Age?
2)  How did the invention of Wheel help man?
(2x2=4)

Write True or False: (4x1=4)
1) Man ploughed field for agriculture in Old Stone Age.

2) Firewasinvented by a scientist.

3) Cave paintings of Stone Age are found at many places.
4)  Neolithic period means modern times.

Civics
1) What do you mean by Panchayati Rq].
2)  Write any two functions of Zila Parishad.
3) Thereare  States  Union Territoriesin India.
(2x1%% =3)
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Monthly Test, July-2010
Class VII, Sub: Social Studies

Time: 40 M. M.M. 20
Geography
Q.1 How many types of Rocks are found on the earth?
Q.2 In how many categories can we classify the forces which have
changed the face of the earth?
(1x2=2)
Q.3  Write down the importance of the soil on the earth.
Q4 How do the mountains affect us?
(3%2=6)
History
Q.5 Briefly describe the architectural achievements of the Cholas.
Q.6 How did Balban Consolidate the Sultanate?
(2x2=4)
Q.7 Fill in the blanks.
1. The Qutab-ud-din Aibak wasthefounder of the........ Dynasty.
2. Women were aso held great honour inthe ............
(1x2=2)
Q.8  Writetrue or false for each statement.
1. The Cholas had a strong navy.
2. lltutmish was a dave of Qutab-ud-din Aibak.
(1x2=2)
(Civics)
Q.9 Who is authorized to cast vote in India?
Q.10 What is the importance of election in democracy?

(2x2=4)
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(Geography)
What is the importance of plains?
What are migratory birds and where do they come from?
(1x2=2)
How can the water be conserved?

What steps have been taken by the gevernment of India for
the protection and conservation of wildlife?

(3x2=6)

(History)

When and under which act the Board of control was
constituted?

In which three areas Mahawari system implemented?
(1x2=2)
Who was the leader of Khas tribe?
What do you mean by Regulation Act?
(3x2=6)

(Civics)
How are the principles of constitution implemented?
Give in detail the meaning of word equality of religion?
(2x2=4)
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Monthly Test, July-2010

Class| X, Sub: Social Studies
Time: 40 M. M.M. 20

Answer the following questions in 25-30 words.
Q.1 Name the forces that destabilizes rocks in the earth’s
interior.
Q.2 What do you understand by Iron Age?
Q.3 What isavolcano?
Q.4 What do you mean by demand?
Q.5 How are folds formed?
(1x5=5)

Answer the following questions in 70-75 words.
Q.6 What is the earth called unstable?
Q.7 Digtinguish between westhering and erosion.
Q.8 Explainin brief the extent of Aryan civilization?
(3x3=9)

Answer the following question approximately in 250 words.
Q.9 What is Volcanic activity? Explain its cause and effects.
OR
Enumerate the different agents of change operating on
the surface of the earth.
(1x6=6)
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(Geography)

Q.1 Namemain units of India’s Physical divisons? (D)
Q.2 Which hill stations and valleys are found in lesser

Himalayas? (D)
Q.3 Give any three uses of the coastal plains to the

entire country. (2)
Q.4 AretheHimaayan Mountains still in their youth

or young stage? (2)
Q.5 Show the following on the outline map of India.

1) Mount Everest Peak

2) Coromanda Coastal area

3) Aravali

4) Pa Ghat (2

(History)

Q.6 Define the classes into which the Muslim Society

was divided. (¢D)]
Q.7 Who were the Sayyids? (D)
Q.8 Describethereligious policy of Sikandar Lodhi. (2)
Q.9 Mention the position of women in the Mudim Society. 2
Q.10 What were the food habits of the Mudims? (2)

(Economics)

Q.11 What ismeant by Per Capita Income? How can you

estimate Per Capita Income? (2)
Q.12 Define disguised unemployment. Explain it with the

help of an example.
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